
Examlet 2        Foundations of Advanced Math        2/25/11

1. a) Let A = {1,2,4} and B = {1,3,4}.  What is A c B?

b) Let A = {1,2,4} and B = {1,3,4}.  What is A 1 B?

c) Let C = [0, 5] and D = (4, 8).  What is C – D?



2. a) Let ù+ = ù – {0}.  Let A
n
 = (0, n) for each n 0 ù+.  What is ?
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b) Let I be a set such that for each i 0 I, B
i
 is itself a set.  Then .( )i i
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3. a) œ b 0 ú, if b > 0, then .0
2

b
b< <

b) œ b 0 ú, |b| $ 0.



4. Let A be a set.  Show that A – A = i.



5. a) œa, b, c, d 0 ú, if a > b and c > d, then a + c > b + d.

b) œa, b, c, d 0 ú, if a > b and c > d, then a – c > b – d.




